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We can use Figure 1, to calculate the image distance g from a knowledge of the
object distance p and radius of curvature R. By convention, these distances are
measured from point V. Figure 36.11 shows two rays leaving the tip of the object.
One of these rays passes through the center of curvature C of the mirror, hitting
the mirror perpendicular to the mirror surface and reflecting back on itself. The
second ray strikes the mirror at its center (point V) and reflects as shown,
obeying the law of reflection. The image of the tip of the arrow is located at the
point where these two rays intersect.
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The magnification can be get from the relation
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We also note from the two triangles in Figure 36.11 that have « as one angle that
h l n'
tan @ = ——— and tanae = —————
p— R R—yg
from which we find that
A
h p—R
I we compare Equations 36.2 and 36.3. we see that
R—q _ 4
p— R p
Simple algebra reduces this to
1 1 2
==
P q R

This cxprcssion is called the mirror equation.
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po=—qp + 1 (g1 is negative )
po=—qy + 1 (g1 1s positive)
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